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Primer Grado

Dibuja un diagrama del ciclo de vida de la mariposa. Escribe sobre cada
estado y sobre lo que sucede entre cada uno de esos estados.




. Lesson 12 Propiem Se

Name Date

Make a simple math drawing. Cross out from the 10 ones or the other part
in order to show what happens in the stories.

1. Bill has 16 grapes. 10 are on one vine, and 6 are on the ground.
Bill eats 9 grapes from the vine. How many grapes does Bill have left?

[l oo W oo W |
T N N N

L Pt B e TP e, WP e |
Ry V\.J\J\.JO

16\

6 gooa dJ

Bill has grapes now.

2. 12 frogs are in the pond. 10 are on alily pad, and 2 are in the water. 9 frogs hop
off the lily pad and out of the pond. How many frogs are in the pond?

10
» <2

There are frogs still in the pond.

3. Kim has 14 stickers. 10 stickers are on the first page, and 4 stickers are on the
second page. Kim loses 9 stickers from the first page. How many stickers are still
in her book?

| 10
14 \
4
Kim has stickers in her book.
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~Lesson 1z pro

4. 10 eggs are in a carton, and 5 eggs are in a bowl. Joe's father cooks 9 eggs from the
carton. How many eggs are lef1?

/10
\5

There are ____eggs left.

5. Jana had 10 wrapped gifts on the table and 7 wrapped gifts on the floor.
She unwrapped 9 gifts from the table. How many gifts are still wrapped?

/
N

Jana has ____ gifts still wrapped.

6. There are 10 cupcakes oh a tray and 8 on the fable. On the tray, there are 9 vanilla
cupcakes. The rest of the cupcakes are chocolate. How many cupcakes are
chocolate?

/
N

There are chocolate cupcakes.
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Name Date

Solve. Use B-group rows, and cross out to show your work.

1. Mike has 10 cookies on a plate and 3 cookies in a box. He eats 9 cookies from the
plate. How many cookies are left?

(13,
OO,

CO00O0 O0C000 000
Mike has ___ cookies left.

2. Fran has 10 crayons in a box and 5 crayons on the desk. Fran lends Bob 9 crayons
from the box. How many crayons does Fran have to use?

Fran has crayons to use.

3. 10 ducks are in the pond, and 7 ducks are'on the land. 9 of the ducks in the pond
are babies, and all the rest of the ducks are adults. How many adult ducks are

there?

There are ____ adult ducks.

EUREKA Lesson 13: Soive word problems with subtraction of 9 from 10, ny
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It's a Ten Game Cards

Direcciones:
1. Cada jugador coloca su pieza de juego al inicio.
2. Mezcla las tarjetas de juego vy las colocan boca abajo en una pila.

3. El jugador 1 se llevara a la primera carta de la baraja y determinar si el
siguiente espacio tiene el valor de su tarjeta de mas o menos diez. Por
ejemplo, si un jugador roba la carta 72, el siguiente espacio /
casilla debe contener 62 (10 menos de 72) u 82 (10 mas de 72). Si
la respuesta esta ahi, el Jugador 1 movera la pieza del juego a ese espacio
/ casilla; si no, la pieza del juego permanece donde esta y el turno del |

jugador 1 ha terminado.

4, Después de cada turno, coloque su carta boca abajo en la parte inferior
de la pila.

5. El jugador 2 repetira el mismo proceso. El jugador que llegue a casa
primero gana el juego.

Cosas a tener en cuenta:

e {Los estudiantes eligen al azar un nimero para sumar / restar 10 o
reconocen una opcién que les permita mover su pieza de juego hacia

adelante?

e ¢ Los estudiantes tienen automaticidad cuando suman 10 a un nimero?
¢Restando 10 de un namero?

« ¢Demuestran comprension al pasar de nimeros de 2 digitos a nimeros
de 3 digitos?
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51 47 24
35 | 65 /3
- 96 90 82
29 67 | 53







51 47 24
35 | 65 /3
- 96 90 82
29 6/ 53




